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	6. In a shale deposit, drills must be given space for operation. In a 5,488 square acre shale deposit, drills are spaced at about 4 square acres each. How many drills are there on the shale deposit?
A. 1,325
B. 1,372
C. 1,456
D. 1,828
E. 2,114
	

	7. Jeans are on sale at a department store for $25 dollars per pair. The department store sells 28 pairs of jeans today. What was the total in sales of jeans at the department store today?
A. $359
B. $458
C. $650
D. $675
E. $700
	

	8. The butcher shop is selling steaks for $7 a piece. The butcher sells 29 steaks today. How much money did the butcher make selling steaks today?
A. $176
B. $203
C. $234
D. $257
E. $331 
	



